~Baha alpu[ Board-2024

i Mathematics ["c’ K.No,1534 Plpo_r Code 3
| paper | l { Objective Type ) ! 1st - A - Exam - 2024 Sesslon (2022 - 24) & (2023 - 25)

0 Minutes | Inter(Part-1) | Marks : 20

=

Time

—

Note fru—;\oic.eﬁ-. B C,B to each question are given. Which cholce Is correct fill that circle in
:3:3 of ?t:;t( Question Nc;. on the Objective Bubble Sheet. Use Marker or Pen to fill the circles, Cutting
of filling two or more circles will result in Zero Mark In that Question.

QN“ WACB and A=B =0 ,thenn(A=8)=.... : (MO (B) n(A) (C) n(8) (D) n(A)~n(B) |

a | -

) [PV R, a=alscalled : c%pakcity_org%
(A) Symmetric (B) Transitive (@ Reflexive (0 Commutative

(3) | Modulus of § = 3i is : a
WVE (8 Vi6 (0 v”z'g__’(ﬂ J3i

—— e e ST ——— — NP —

(4) i pisalogical statementthenp A ~ p is always :
] (AP Absurdity (8) Contigency (C) Tautology (D) Conditional P RS

.-75) IIM=H l],and |A]l=4,thenx=.. : (A) 2 (B 3 (C) 4 (D)5

h(’d A matrix oforderm x 1 is called :
|
l(A) Row Matrix (8 Column Matrix (C) Diagonal Matrix (D) Null Matrix

' (7) ! Set containing elements of A or B is denoted by : (A) ANB (B) AS BmUB (D) BSA

(8) | Roots of the equation?—SnG:O are ...: (A)2,-3 (B)-2,-3 (C| 2,3 (D)-2,3
“igc)'_%?l'h:;r;ﬂ:rn_eaéﬁe‘a‘n between vZ and 3V2 is : (’) 2{2}1@) 3VZ (€) 4VZ (D) V2
- - \ \“/*

S0 [_X , a
, 2213 | Jp— : ’,\.’(\;\\1\\(\
| RY)
| (A) Proper Fraction & Improper Fractiqﬁ?,l’.&) “Identity Fraction (D) Mixed Fraction
| AN ’
i (11) | Degree of Constant Polynomial Is;.\-(;k?n B 2 (01 Mo
) ,L"Cr>'/
E (11) n 2‘\‘ \\\.{/
| n¥(h+1)? @ n(n+1) nn+1)(n+2) n(n-1
| Y K= ,,\(tyy:?J @ s Lo o 222
‘ PR 4 2 6 2

’ K=1
L AN
7 7

| (13) | solutionof Cot® = —= inquad s .: (A) g i
| (13) ution of Co "7 nquadIITis ..... : (A) 3 8 ) . (D)?

O
(14) | Numbers of terms in the expansion of (a +x )Znu are : (A)2n+2 (B) 2n+1 (C)2n (D) n+1

(15) | Probability of an impossible eventis....: (A) 1 (B) 0.5 (C) 0.25 (D)0

(16) |Tan( a—90°)= we ¢ (A) Cota (?)-Cota (C) Tana (D)-Tana

(17) | The value of Sln_l(Cosg) isequalto : (A)m/2 (B) 3m/2 (C) m/6 (ﬁ/;;

18 AW _ s(s-a) @ bc s i
(18) Sec(z) e & (A) ’ = (B) pr (€ 2 (D) -3

(19)

2 4 4
Period of Cot 3x Is ..... : —_— - -
eriod of Cot 3x Is (A) TU (B) 3 (€) 2 (8) 3

V3
(20) |if Slnx:*z— and x€ [0, 27], then x is :

) Sm 4m L 3n n 2n T 5m
P TR 40, 4 3! 3 (0)6'6
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| Roll No.
Mathematics { Subjective )
i

Nc;ll‘: It I8 compulsory to
any (9) Parts from Q.No.4,
its Part No.as given in the Question Paper,

BahawaIpUr Board-2024 lng’.;“"" |

T oy
:Q.No.z il | Show that v 1cC , 17+ |1

1634 - )de inter ( Part=1) | Sesslon (1011..2'“"“"6-6{‘~:iir

Int - A = Exam ~ 2024

Tl"‘ﬂ 2:30 "0"'” Mn’k' '. .*',-owm..;.

nm-mp-l‘ u‘ny (il - ﬁ) Parts each from Q.No, 2 and (),No.3 wlﬂl‘o“;;;;;;r
Attempt any (1) Questions from Part = 11L,Wrlte same Quostion No, and

‘ () | Show thatvay,23¢ €, 7,2, =2, 7,
| ' (iil) | Define Polar form of a Complex Number . ki
| . - SO— —
x (iv) | Prove thatz =z ilfzls real.
{ 5 S
1 (v) | Write down the Power setof {a,{b,c}}
| , oo e henf s s N ————
* (vi) | Show that (pAq) —p Is a tautology .
| e ey E— e NS— —
: (vil) | Solve the system of linear equations : (vill) | Write any two Properties of Determinant.
4%, +3%=5 ,3%1=-X,=7
; R (|,() Define Hermitian Matrix . - (x) Solve the equation by Completing Square
| x* +4x - 1085 = 0
‘ ~(xi) | Solve the equation by using quadratic | (xii) | Prove that :
| formula, 16x°+ 8x + 1= 0 (-14v=3) 4 (-1-v=3)*=-16
'Q.No3 | (i) | Define Conditional equation and give example .
i
(W Resolve — Into Partial Fraction. A\
x%=-1 A0\
AS)
(i) - ., Fql‘ '
fAp_o2 = 3n = 11, find the nth term of \u{e(s'e ence .
DN
(iv) Find A.M between 3\/§ and 5\/§§\.> )
()N
™ ¢S, =n(2n-1 ),theqj&;‘t\&ﬁ\?serles.
N
(vi) | with usual notatlo!\( ,\\g&tﬁat G2=AH
(vii) | Writen(n - d\l(?\/\-\z Juu{n=r+1) (vili) | What is the Fundamental Principle of
in the factatial form. Colneng
(ix) | Two Coins are tossed twice each, Find x) | calculate ( 0.97 )3 by means of
the Probability that the head appears on Binomisl Tiearem. -
the first toss and the same faces appear
in the two tosses.
(xi) | Find the term involving x‘ in the (xii) | Expand upto 4 terms, taking the values of
expression of( 3-2x )7 X such that the expansion in case is valid
1
for( 1—x )2
No.4 | (i I
Wb M Convert ? into the measure of Sexagesimal System ,
8
(i) |if tand = 75 and O€ TIT then find Sing and Cosb.
W) | vfa,p,y be the angles of a triangle , then prove tan (at+ B ) +tany =0
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L.K.No. 1534 Bahawalpur Board-2024

(iv) | Find the Value of tan (105°) . |
(v) | Write Triple angle identity for Cos3a .
(vi) Find the Period of tanB .
X
(vii) | Find the Period of Sin ( 3 ) ]
L |
(viii) | praw the graph of y = 2cosx, x€ [0, 2n ]
(ix) | solve the right triangle ABC in which y = 90° ,a= 37° 20’ ,a=243
(x) | Define Angle of Depression .
(xi) By using Law of Cosine find the value of Cifa = ‘/§ -1, b= \/_3: +1,7= 60°
(xii) | Find the value of Cos ( Sin™" ( :}.2- ))
(xiii) | Solve the equation 1 + Cosx =0
Part- Il 3 x10 = 30
Q.No.5 | (a) at+l a a (5) i
Showthat | a a+! a = 12( 3a+1) !
a a a+l
(b) | Solve the Equation : C\’“ (5)
V5xZ+ 7x+2 -V4x2 + 7x +18 =x-4
2 AN X -
Q.No.6 | (a) x2+1 (D (5)
Resolve 511 into Partial Fra:c/i{ahs .
(b) If the numbers 1,4 and 3,grﬁ§uﬁtraded from three Consecutive terms of an A.P, the (5) |
resulting numbers are \i\q@.‘}‘-i ‘Find the numbers if their Sum is 21 .
Q.No.7 { (a) | Find the valuesﬂk‘? and r When "C, =35, and "p, =210 (5) :
N !
(b) | Use Binomial Theorem to show that (5) 1'
1+1+1.3+1.3.5+ _\/-2- l
4 4 . 8 4 . 8 : 12 Sannan J
6 2 2 2 2 f
Q.No.8 | (a) | Prove that smse ~Cos B=(Sin 8~Cos 6)(1-3Sin 6Cos 0) (5) {
. -1 1 - ) w
(b) | prove that: Sin 7 +Cot "3 = = (5)
Q.No.9 | (a) | Reduce S|n49 to an expression involving only function of multiples of 0, raised to the (5)
first power. i
2 2 {
(b) | The Sides of a triangleareX_ + X+ 1, 2X+1 and X" = 1. (5)
! |
Prove that the greatest angle of the triangle is 120° . ! |
_———— . J
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Please visit for more data at: www.pakcity.org

Mathematics (C) L.K.No.1014 Paper Code No. 6195 \

Paper | (Objective Type) | Ist - A — Exam — 2023 | Session (2020 - 22) to (2022 - 24)
Time 30 Minutes Inter ( Part-1) Marks : 20

Note : Four possible choices A, B, C,D to each question are given. Which choice Is correct fill that
circle in front of that Questlr.m No Use Marker or Pen to fill the circles. Cutting or filling two or more
circles will result in Zero Mark In that Question.

Bahawalpur Board-2023

Q.No.1 % =5 % o A .
) lfA-[g 5] thenAo Azis. o 4 . . e
(A)[ ](B)[4 IOJ(C)[Z 0](0)[ 2]
(2) | venn Diagrams are useful only in case of :
(A) Concrete Sets (B) Abstract Sets (C) Subsets (D) Universal Sets
B3) |1f z=2-3i, then |Z|? = (A) V5 () 5 (€) Vi3 (D) 13 |
(3) |if A is a Square Matrix of Order3,then |[KA| = : (A) 34| (B) 914] (C) K|Al (D) K*|A|
(5) | An equation in which two Algebraic Expressions are equal for particular values of the
variable is called : (A) An Equation (B) Conditional Equation (C) Identity (D) Both A and B
(6) |If for a Quadratic Equation ax- +bx+c = 0, b°- dac = 0, then roots of the equation
will be : (A) Rational (B) Irrational (C) Equal (D] Unequal
(7) | The Sum of the Roots of the Equation 5 -x=2 =0 Is : (@— (B) - (C) w—a (D]
(8 |If ay =(-1)"(2n-3),then 5" term of the sequenc@“(ﬁ/ ~7 (8) 7 (C) 49 (D) - 49
(9) | A Coin is tossed four times,then the Pr@é@ of getting no head is :
1 1 1
Qg@% ® 5 @ ; © 3
(10) | The Number of 4 Digit Numb @&)can be formed out of digits 1,2,3,4,5,6
when no digit is repeated (\Is@ (A) 15 (B) 36 (C) 360 (D) 720
s 1 N~ ) 288 o ath a+b
(11) |H.M. between = @ P is : (A) T ( o
(12) |1+3+5+ - n+5)=(n+3}2 is true for :
(AA n=>-18 n=>-2 () n>21(0O n=2 |
-1 e
(13) | cCos(2x+30°.Cos(2x-30°) = : (A)—Z—[sinqx-smso"](s) —él[SIndx+SinBD°]
1
(C) 1[C0$4X+C0550°] (D) E[Cost-CosG()o]
(14) | Which of the following is a pair of Coterminal Angles :
(A) 30°,-330° (B) 50°,-330° (€) 30°,760° (D) 60°, 1480°
(15) | The Coefficients of the terms equidistant from beginning and end of the expansion
of (a+x)n;nEN are equal as : "
n n
W™ =Gr)e@) o) (e ) -G)
(16) | Range of y = 3Sin2x is : (A) [-1,1] (8) [-3,3] (0) [-5.5] (D) [-6,6]
-1( 1 x x x
17 |sinH(5) = Wwo @® ¢ © 3 @ 3
4 Ar
18) |abc _ | : L. L
(18) — = %pakmty.or@o (A) ars (B) 48 (O iR = R
(19) | Area of a Tnangle ABC is equal to :
(A) bc Sina (B) —ab Sina (C) - bc Cosa (D) -ac Siny
=3 AI'-B’—’(C)E(D)E
(20) |Reference Angle of Cosx = —- is : (A) ¢ (B 3 2 3

B

( =
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Bahawalpur Board-2023

| Roll No. 1014 -1L7e0e l Inter (Part—1) | Session (2020 - 22) to (2022 - 24)

Mathematics ( Subjective ) Ist - A - Exam - 2023 Time 2: 30 Hours Marks : 80

Note: It is compulsory to attempt any (8 - 8) Parts each from Q.No. 2 and Q.No.3 while attempt
any (9) Parts from Q.No.4. Attempt any (3) Questions from Part - Il .Write same Question No. and
its Part No. as given in the Question Paper.

Part-1 25x2=50

Q.No.2 | (i) |Prove that : -E = < ad= bc

=
d

(ii) |Show that vV Z € C qu-i2 is a real number.

(iii) | Show A - B and B—A by Venn Diagram, when A and B are Overlapping Sets.

(iv) | Verify the Commutative Property .of Union and Intersection for the sets
A=1{1,2,3,4,5} ,8B={4,6,8,10}

(v) | Construct Truth Table for the Statement (p—> ~p) Vv (p~> q)

vi) [If A= [; _11] verify that (A" *)' = (A%)™!

(vii) | Find value of “x‘ if : (vili) | Solve the Matrix Equation
1 2 1 22X - =B if
2 x 2| =0 ! ¥
3 6 x C@ -2 4 5:[ and

Og\ﬁB:[s -1 o]

4 2 1

(ix) | Reduce to Quadratic For @\) (x) | Show that :
(x+1)(x+2l(x+3)(g\'§?= 24 X -y = (x-y ) x-wy)(x -w’y)

(xi) e equation | (xil) | if the roots of the equation X — px + q = 0

+(a=b)=0; differ by unity , prove that Pz=4q +1

QNo3 | (i) |Define Proper Rational Fraction.

(i) | Write the first four terms of the sequence if a,—ap,~-1= n+2,a; =2

() [1f 5,8 are two A.Ms between “a’ and irafInd ‘a’ and ‘b

1 ; :
(iv) | Sum the Series -8 - 35 +1+ ——tany ;@ paKCIty.Ol'g %ﬂ

(v) | Find the 11" term of the Sequence 1+1i,2,2(1~-1), -

(vi) | Insert three G.Ms. between 2 and 32

(vii) | Find the number of the Diagonals of | (vii) | Show that :
a 6-sided figure. 16 16 17
Cin + Cyo= Cq

(ix) | Two Dice are thrown, What is the () [If Sn=n(2n=-1),then find the Series.
Probability that the sum of the number
of dots appearing on them is 4 or 67

) =1 | (xii) [If ‘x”is so small that its square and
(xi) | Expand upto four terms (1 + X ) higher powers can be neglected then

3
h f— — -
show that mn—l zx

Q.No.4 | (i) | A Railway Train is running on a Circular Track of Radius 500 meters at the
rate of 30 Km per hour. Through what angle will it turn in 10 Sec?

(i) |verify Cos20 = C0s5°6 — Sin®e when 6 = 30°, 45°

(iii) | Find the period of Sec9x.
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Mathematics [ (B) J L.K.No. 1112 | Paper|Code No. 6193
Paper | (Objective Type ) | Inter - A-2021 | Session (2017 - 19) to (2020 - 22)
Time 30 Minutes Inter ( Part-1) Marks * 20

circie in flont of that Question No. Use Marker or Pen to fill the circles. Cutti g or filling two or more

Note : Fo{r possible choices A, B, C,D to each question are given. Which cioice is correct fill that

circles willresult in Zero Mark in that Question.

Q.No.1 -v3 . T T 14 -7
(1) If Cosx B " then its Reference Angle is : (A) 3 (B) Y (C) Py (D) ry
(2) |cos(sec ¥(1)) = - (A) 1 (8) 0 (c) 3¢° (D) 2
(3) u

s(; D . (A) Sing" (B) sm-‘rzi (€) Cosg (0) cos >
(4) If ABC be any Triangle and y = 90“, then :
(A) a® + b2 = & (B) a‘+c? = b? (€) b2+ = a° (D) a’+b%+P = 0
(5) - m
Period of Sin 5 is (A) 2m (B) s (C) 10w (D) S5m
(6) |2sin12° 5111460 = : (A) Cos34° Cos58° (B) Sin34° + Sin58° (C) Sin34°-— Sin5$° (D) Cos34°— Cos58°
= .
(7) = Radlaris equals to : (A) }\73@ 150° {c) 270° (D) 190°
(8) |[The Vertex of an angle in standard form is at, ;. i
. (Ak('éﬁj?(ﬂ)(l.ﬂ)(ql[ﬂ,l) (D) (1.,1)
(9) |In the Expansion of (a+b) , the 2™ ¥ (A) a’ (B) 7a°%b (C) 7ab® (D) 7b°
(0) |°p, = .o %2> (4) nt B) (n+1)! (© 1 (D) (n-1)!
(11) | Harmonic Mean betwee andy is :
2(x+y) 2xy xX+y x+y
(A) e XY (B) 3 (C) s B ==
i N T 2 __3 & o )
(12) |The nth teérm mﬁe sequencangg, = oY § i
n n n n
(A) 2n-1 (8) 2n + 1 i‘i’ 3n- 1 (D) 3n+1
(13) | The next two terms of the sequence 1,3,7,15,31 -—-— are :
(A) 112,288 (B) 122,144 (C) 102,188 (D) 63, 127
1
(14) | partial Fractions of prreel weeenea
1 1 1 1 1 1 1 1
\A) x-1 bl x+1 (8) x-1 x+1 (€) x + x+1 (0) ; T x#1

(15) |#f «,B aré the roots of the equation x- —4x + 5 = 0 , then aff is equal to :

5 (A) 2 (B) 4 (€) 5 (D) -4

(16) |(a +b)x 4 ax + bx is called : (A) Identity (B) Equation (C) Conditional (D) Fraction
(17) 11 =2 3

f A = |-2 3 1 , then A3z equals : (A) -1 (B) 1 (€) 7 (D) -7
4 -3 2

(18) [: :,] is : (A) Zero Matrix (B) Non - Diagonal Matrix (C) Identity Matrix (D) Scalar Matrix
(19) {if ACB and BS A, then: (A)A=0 (B) A=B (C)B=0 (D)ANB= 0
(20) | The Multiplicative Inverse of Complex Number (0,1) is :

(A) (0,-1) (8) (0,1) (C)(-1,0) (D)(0,0) )

jc@ pakcity.org %ol
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Roll No. 1112 - a.w Session (2017 - 19)to(2020 -22) | Inter (Part 1)

Mathematics (Subjective ) | Inter — A - 2021 | Time 2:30 Hours Marks : 80

L

any (9) Parts

Note: It is comipulsory to attempt any (8 - 8) Parts each from Q.No. 2 and Q.N9¢.3 while attempt
its Part No. as given in the Question Paper.

om Q.No.4. Attempt any (3) Questions from Part - Il .\Write same Question No. and

Part-1 25x2=50

Q.No.2

(i)

Find thp Sum and Product of the Complex Numbers (8,9) and (5,—6).

(i)

45!

Separa+ into Real and Imaginary Parts and write as Simple Complex Number.

(i)

For all [Complex Numbers Z , show that z2 + Z is a real nurnbk

(iv)

Convert the theorem (A N B} = A u B into logical form and pI‘DLIC by constructing
the Truth Table.

(v)

f G l# a group under the operation * and a,b € G, then solve the equation
a*xx=>b

(vi)

Write the Descriptive Form and Tabular Form of the Set { XIx E0A3 < x <12 }

(vii)

# Ae|l 2| gng A2 =00 ﬁndthevalues of a and b.
a b 00

(viii)

Find the Co - factors A«‘z and A22 if Qé
é\o
R

(ix)

2
Find the value of X If htl If @, p are the roots of 5% —x—2 = 0

3 1 then form an equatidn whose roots are

0 @ 2 w4 5 o pakeity.org -

(xi)

Find THree outs of Unity. {xii) | Solve the Equation Ex‘ -32=0

Q.No.3

(i)

\fx -4x -5
(x=-2)(x%2+7x+10)

Write in form of Partial Fraction without finding the constants.

(i)

2
dx-2)(x-1)?

Write in form of Partial Fractions without finding the constants.

(i)

Calculatf (2.02)% by means of Binomial Theorem.

(iv)

A die Is rolled. What Is the Probablllty that dots on the Top are[greater than ‘4’ ?

(v)

Use Binomial Theorem to expand (E o )6

(vi)

1
Expand [ 4 ~ 3x )Z upto three terms taking the values of ‘x “ such that Expansionis valid.

(vii)

{viii) | Sum the Series

3

Find dp of the sequence :
13-3'5;-7,9,-11.-—-‘- ﬁ‘l"Zﬁ +ﬁ+h---+a13

(ix)

Find two G.M.’s between 2 and 16. (x} | Which term of the A.P. 5,2, —1 -is —857

(xi)

Evaluate 20p3 i) [If "Cg = "Cy3 find ‘n°

Q.No.4

(i)

What I§ the circular measure of the angle between the hands of a watch at 4 O’ Clock ?

(i)

Verify |Cos20 = 2Cos-6 — 1, when 6 = 30°, 45°

(i)

Prove that Cos48 - Sin‘ﬂ ] Coszﬂ - smzo for al @ ER

(iv)

Find the value of Cos 105°

P.T.O.
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....... dirarano | (B) | L.IINO, ALY raper Code No. b143

LS ]
Paper 1 ( Objective Type) Inter ~A- 2019 Session (2015 -17) to (2018 - 20)
Time : 30 Minutes Inter (Part-1)
Marks : 20

Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct fill that
clrcle in front of that Question No. Use Marker or Pen to fill the circles. Cutting or filling two or mare
clrcles will result In Zero Mark in that Question.

10.1 | the reference angle for Tan®@ = /3 is : (A) % (B) -_—‘;?E (C) g (D) --35
1) .
2) |Sin(Tan™'0°) = : (A) -1 (8) 1 () 0 (0) oo
3) |Radius of e-circle opposite to vertex “ A“ of AABC is :
A A A A
A) - B) — (O — O —
3) | The angle above the Horlzontal Line is called an angle of :
(A) Depression (B) Elevation (C) Allied (D) Quadrental
5) | Period of csc@ Is : Ay X (8)-X (€) 27 (p) -2
5) |cos{®-180°) = : {A) Sin® (B) -Cos® (C) Cos® (D} -S5in®
7) 252‘- rad in degree measure is : (a) 321° n () 323° (D) 324°
P\
X 4 1@
3) | Total number of terms in expansion of (— Care :
J\A@ (A) 17 (B) 16 (C) 15 (D) 14
) |The Statement 4" > 3+ 4 is tru%@i}?(n} K<2 (B) K< 2 (C) K# 2 (D) K2 2
s
0) |A die is thrown, what is the pr ility to get 3 dots :
59 AR VN ER B
| W 3 ® ; © ; © 3
BEE X5 (a) 7t (B 7 (© 8 (D) 8!
2ab a+b atb
2) {If H Is H.M. between “a" and “b*” then H = : (A) =K (B) o (C) e (D) +Vab
3 e . e L L@ L
f an = on o then a5 = (A) 2 (B) r (C) - (D) =
4) |In g::)) y if degree of P(x) = degree of Q(x), then fraction is
(A) Proper (8) Improper (C) Irrational (D) Identity
5) |When x3-2x2+3x+3 is divided by x =3, the remainder is
(A) -21 (8) 21 (C) -51 (D) 51
1
3) | An equation which remains unchanged when X is replaced by s B2
{(A) Exponential (8) Radical (C) Reducible (D) Reciprocal
7) |If Order of X =3 x 2 and that of A = 2 x 2 then order of XA =
(A)3x2 (B) 2x3 (C) 2x2 (D) 3x3
) |The matrix [a b ¢ d] is : (A) Square (B) Unit (C) Null (D) Row
D | a= {a,{a,b}}, then number of elements in P{A) Is : (A} 2 (B) 3 (C) 4 (D) 8
3
) | The property used in(a+1)+ -3- = a+(1+-) is :

4

o@pakcity.orgj%c (A) Closure (B) Associative (C) Commutative (D) Additive
2 € : i
C == = ) N
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Bahawalpur Board-2019

Mathematics (Subjective) | Inter - A -2019 | Time2: 3¢Hours Marks : 80 |

Note: It is compulsory to attempt any (8 - 8) Parts each from Q.No. 2 and Q.No.3 while attempt
any (9) Parts from Q.No.4. Attempt any (3) Questions from Part - II .Write same Question
No. and its Part No. as given in the Question Paper
Part- [ o@ pakcity. Org 25x2 =50
22| ) |If z; and Z; are complex numbers then show that Z,Z; = Z, Z,
(ii) =2 3 -2 =[ 2 =3 1) ihen solve the equatl
if A -1 1 - and B 5 4 -1 en solv quation
3x-2A = B for X.
(i) | Separate into Real and Imaginary Parts | (lv) | If A and B are Overlapping Sets then
2-7 draw the Venn Diagram of A-B
4+51 -
(v) | Find the Multiplicative Inverse of -3 = 51 | (vi) | Find Four 4 Roots of 81
{vil) | Define Intersection of two sets and give | (vill} | Without expansion show that :
an example. zZ 3 -1
1 A 0o|=0
2 -3 5
(ix) | Define Identity Matrix and give an (x) | Show that the roots of px2-(p-q)x=-q =0
example. are rational.
() | 1f c,p are the roots of x—px—p—c =0 | (xii) | Define ™ S d.
then prove that (1+a)(1+f) =1-c¢ (Q
0.3 | (I) {For the Identity 1 5. B(\g‘)v calculate the value of A
" (x-1)(2x-1)(3x-1) x—;m@rel .
) | Find the indicated term of the sequence %@i 17, a, N
{iii} | write the first four terms of the w- 5 and other three consecutive terms are |
23 ,26, 29
(iv) | Find the 12" term of the Geametrje Sequence : 1 +i,2i,-2 + 2|, ==
(v) | The A.M. between two n Ma and bis 5 and thelr positive G.M. Is 4, find the
values of a and b.
(vi) [If 5 s the Harmoq\t&\ﬁe’an between 2 and b, find b.
{vli) | How many w be formed from the letters of the word “ OBJECT* using all
letters with eating any letter ©
8 xX10"-2 ,
(viil) | Prove that = 1 3N integer for n =1 and n =2.
(ix) | Find 6™ term in the expansion of (x%— ?3;}10
(x) | Expand V99 by using Binomial Expansion to find its value upto three places of decimals.
(xi} | Define Improper Rational Fraction.
(xii) | Resolve =2 into Partial Fractions.
i i 1
0.4 | (i} | Define Degree Measure. (M) |solve Sinx = s
() | Find the solutions in[0,2] Cotd =7 | (W) | prove L L L Je—
Cos 8x + Cos 2x
v

Prove that Cos(Sin"*x) = VI — x2 | M) [ Find the period of cmg

(vil)

1
if Sinf@ = - 3 terminal arm of & is not in Il Quadrant , find Tan 6.

{vlii)

The area of a AABC is 2437. If a =79 and ¢ = 97, find the angle .

(™) | prove that A = Js(s— a)(s—b)(s—c)
M) 2 _ 1-5iné
Prove that. (Secf -~ Tan@) 2115in0

(xi)

Prove Sin(a+P).Sin{a- B) = Sin’a - Sin’p

(xii)

if B=52°, y=89°35", a = 89.35 find the side b of a AARC

{xiil)

o [
1+ Sine _ Slni +C03-2-

Prove S e—
1-Sinx sm; - Cos“z—‘

PTO.
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5 {(a)

Convert (AUB)UC = AU(BUC) to logical form and prove by

constructing truth table.

{5)

(b)

Sum to n terms, the series : 3 + 33 + 333 + -=-=roncmeee-

(s)

Solve the equations if possible by Cramer’s Rule.
2%; = X3 + X3 =

8
X; +2X; +2X3 =6
1

Xy = 2Xy = X3

()

(b)

Find the Probability that sum of dots appearln%@wo successive
throws of two dice is every time 7. Q\O@)
P4,

(5}

Find the values of “a“ and “b“ if@?@i"ﬁand “2* are the roots of
polynomial x* - ax*+ax+b yb

(5)

(b)

A
Find the Coefficient of term {nvolving x™* in the expansion of

3 1
(3% ~ 5%

(5)

8 | (a)

“ o u
r

Show that the area of a sector of a circular region of radius

1
is Erzﬂ,where @ is the circular measure of the central angle of the

sector.

(5)

(b)

Cos8° — Sin8°

- (4]
Prove that Tos8% 1 SInB® - tan37

(5)

9| (a)

SN M . |

Show that 2rR  ab  bc  ca

(5)

(b)

5 —n 7 —1 253
12 4 Sin"'— s Cos™i=2

Prove that Sin T T T

(5)

==
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.Note :

Four possible choices A,B,C, D to each question are given, Which cholce is correct, fill that circlein front of that question
number.Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark In that question.

Q. (1)
(1)

What is the Multiplicative Inverse of 1 -2i : 1+ 1- 2 . .
A - 21 1+ 2 1-21
(A) 5 B) —— (© s (D) s

@

A Square Matrix A is Skew -Symmetric if |‘.A)t = : (A) A (B) -A (O A (D) -AI

&)

If A is a Matrix of Order 4 x 3, then number of elements in each column of A is :
(A) 2 B 3 () 4 (D) 5

(4) |How many inverse elements correspond to each element of a group :
(A) At least one (B) Only One (C) Two (D) At least two
(5) |The Roots of the Equation X>+x+2 =0 are : (A) Real, Equal (B) Real, Unequal (C) Equal (D) Imaginary
n
6) | The Sum 3 1= A 1 B n © 2 ©O o
K=1
(7) | Partial Fractions of ——'rii%——- will be :
(x -1)(x* +2) %
A Bx + C A B Q Bx+ C A Bx
+ + + + .
(A) X-1 o243 (B) — XZMQX\ x-1 x2+2(D) % =1 3 wig
@) [1f 3+ 2% = 5*, then the value of x is s\ (A) 0 (B) 1 (O 2 (D) 3
|\
(9) |The Geometric Means between -2i and 8i {f\\efg/ (A) 4 B *x2 (C 23 D x4
0 n(n-1
(10)| If n%z+ and |x| < 1, then the 5ionl+nx+(—21-——}x2+-—-——-is-
(A) Arithmeti ? (B) Geometric Series (C) Harmonic Series (D) Binomial Series

1)

The Non - Occurrence o@kﬁ E is denoted by E and P(E) is given by :
(A) E)-1 (B) 1 -P(E) (€ 1- P(E) (D) P(E)=- 1

12)

If P(E) is the Probability of an Event E, then :
(A) 0<P(E)<1 (B) 0>P(E)>1(C) 0<P(E)<1 (D) 03 P(E)>1

(13)

'

-2 2
The 2nd term in the expansion (1+2x)> s : A F* ® 3% © -« @ F

(14)

Period of Sec10x is : (A) —"21- B M (C Ifg.. o =l

Cos( @ + S’Tﬂ' ) is equal to : (A) -Sin® (B) Sin® (C) -=Cos® (D) Cos®

(16)

An Angle in the Standard Position whose terminal arm lies on the x-axis or on the y-axis is called :
(A) Obtuse Angle (B) Acute Angle (C) Right Angle (D) Quadrantal Angle

17)

Radius of Escribed Circle opposite to Vertex C of the Triangle is
A é
(A) s (B)W(C)B_"F(D)_sf?

(18)

1f Sinx-"‘-?— and x & [0, 2'\f]then x is :
. s anf
(A} — § --3—

o,
3

21 a s

A A
L e 3

(19)

B) -3 ‘(C)“g—'
2

-1 .1 _2A -1 _2A -1 1-A -1 1+ A
2tan A = A tan (B) tan C tan tan
A 1+ A2 1-a2 © . @ 2A

(20)

In any Triangle ABC, with usual notation tan-g =

(s-a)(s -b) (s-b)(s -c) (s-c)(s -a) s(s-a)
@ \l e ® (T © \l s(s-5) O "B
— —
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¥
1

-

T S - -

-

i QNo2 (i) Simplify and justify each step

Q.No.3

Q.No.4

-4-—:4—1—-6-’5 by using its properties.

(i) Scparate into Real and Imaginary Parts

i
1+1
(i) Find the Inverse of "a relation { (x,y)] y=2x+3 , x&TR }

W) 1f A= [1 .l:] and A% = [: 2] , find "a "and "b"

(V) Show that vz € C, z>+ (Z)2 is a Real Number.

) If A= [ 1+ ‘] , show that A +(A)' is Hermitian.

1 2 1
“i) Find x , if |2 x 2| =0 (viii) Solve x>+ x*+x +1 = 0

3 6 «x
(ix) Write two proper subsets of { 0,1} (x) Construct the truth Table of P—»(pV q)
(i) When x* + 23 + Kx? + 3 is divided by x - 2, the r is 1, find the value of K.

(xii) If oC, P are the roots of T px-p-c =0,

(i) Define Proper Rational Fraction. é
(iii) If a _, = 3n - 11, then find nth t & A
(iv) How many terms of the given se + (-5)+ (-3) +— amount to 65?

(v) Find Vulgar Fraction Equival@ 1-34

-y

al (1+ )(1+P) = 1-¢

<>(ii) Define Harmonic Progression.

(vi) Write values of : (i K and (i) z K
K=1 =]

(vii) Find the wval

(viii) Find the number of Diagonals of 6-Sided Figure.

(ix) By using Mathematical Induction show that

1 1 s §
1*"'5""7‘ '“'"'“*F = 2(1 —lﬁ) is true for n=1and n =2

A 10 S : .
(x) Find 6th term in the Expansion of ( -23?) G@ paKCIty.Org %ﬂ

1 i
(xi) Using Binomial Theorem, find the value of 5257 to three places of Decimals.

(xi Let S = {1,2,3,——9}; Event A = {2,4,6,8}; Event B = {1,3,5}; Find P(A UB)
(i) Find the Radius of the Circle in which the arms of a Central Angle of Measure 1 radian
cut off an Arc of length 35cm.

(i) Show that Cos(ot + B)Cos(xX=pB) = Cos £ - Sin B
(i) A ladder leaning against a vertical wall makes an angle of 24° with the wall. Its foot is 5m

from the wall. Find its length. 5

ol + _ cin O

(iv) If o, B, 3 are the angles of a Triangle ABC, then prove that Cos ( _Z._E) = Sin >
tan % — tan -76—‘ " 5 3 "
(v) Evaluate (vi) With Usual Notations show that — = —+——+ —
r rl rz r3

— AN —
1+ tanaan6

(vii) Write any two laws of Tangenls (viii) Define Period of a Trigonometric Function.

Sin8x + Sin2x
28n0  _ 10 Cos® () Prove thit —————— = tan 5x

(ix) Prove that Cos 8x + Cos 2x

1+ tan'©

PTO. |
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i 1
(xi) Evaluate without using Calculator fﬁﬂl(—v;)

d) Solve the Equation cosx = _%
l

(i) Find the Solution of Cot® = which lies in [ 0, 2% ]

o@ pakcity.org %D E

{Q.No.5 (a) Let A,B , C are any non-empty sets, then show that (5)

AU(BNC) = (AUB)A (AUC).

(b) Define Rank of a Matrix and find Rank of given Matrix : (5)
E 1 -1 2 -3
] 2 0 7 -7
l 3 1 12 -11
* q if x+ 1 and

Q.No.6 (a) Use Synthetic Division to find the values of

x - 2 are the factors of the Polyno ¢' + px +qx + 6 (5)

2

2 S\
(b) Resolve inr@al Fractions. (5)
(x-3)(x + 2)* 73

O
a™ + p"
Q.No.7 (a) Find "n " so t may be the Arithmatic Mean ( A.M.)
an"‘l 3 b!‘l-l

between "a " and " b" (5)

(b) Prove by Mathematical Induction that for all positive integral values of "n" (5)

" -

Q.No.8 (a) Prove that : (i) (Sec© + tan© )(Sec® -tanBO ) =

.: . 2 .2 1- tanze

; (ii) (Cos’® - Sin“®) = ——F— 5)
{ 1+ tan"©

1

[ ) o 0 1

_I (b) Show that (without using calculator) Cos20 Cos40 Cos80 = 5 (5)
!

i

I

Q.No.9 (a) Show that r, = 4R Cos %‘Cos _g..Sin .325- with usual notations of AABC (5)

-

' -1.3 1,3\ . tan"1,8 A
(b) Prove that tan (T)+ tan (_S_) tan (_1_9) = T (5)

"




